
1. (10 points) You are given the following mortality table: 
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You are also given that i=l0%. 

a0- 824.7o 

98 

99 

STAT 472 

Spring 2024 
Quiz 4 5 

2.573353 

March 26, 2024 

An increasing whole life policy issued to (95) pays the death benefit at the end of the year of 

death. 

The death benefit in the first year is 1. The death benefit in the second year is 2. The death 

benefit in the third year is 3, etc. 

Calculate the actuarial present value of this increasing whole life insurance. 
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2. (10 points) XYZ Insurance Company sells a whole life insurance policy with a death benefit of 
1000 to insureds who are age 50. The death beneflt is paid at the end of the year of death. 

The mortality for (50) follows the Standard Ultimate Life Table. You are also given that i = 0.05. 

XYZ sells 625 policies. Further, XYZ sets aside 124,000 to cover future death benefits. Assuming 
the normal distribution and that policies are independent, calculate the probability that the 
124,000 that XYZ set aside will be LESS than the present value of the benefits actually paid. 
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